DERIVADAS

Sejam u = u(zx) e v = v(x) fungdes reais de variaveis reais.

1. =0, c¢= constante 2.2 =1 ‘
3. (utv) =u £ 4. (cu) = cu', c= constante ‘
5. (uv) =v'v+uv 6 (E>/—M
' N \w/ v2
/
7. (W) =ru" ", reR 8. (Vu) = nu , neN
nvVunr—1
9. (") =u'e" 10. (@*) = a"v/ Ina, a€RT ‘
/ 1 /
11. (In(u)) = “ 12. (log,(u)) = na %
13. (u?) = u® In(u) + vu’ 1/ ‘
14. (sen(u))" = v’ cos(u) 15. (cos(u))" = —u'sen(u) ‘
16. (tg(u)) = v = sec?(u) 17. (cotg(u))' = v = —u/ cosec?(u)
' cos?(u) ' sen?(u)
18. (sec(u)) = u’sec(u) tg(u) 19. (cosec(u))" = —u’ cosec(u) cotg(u) ‘
/ u’ ' u'
20. (arcsen(u))” = 21. (arccos(u)) = ——
(aresent)) = = (arccostul) =~ A—
/ u, / u/
(arctg(u)) 2 3. (arccotg(u)) T
24. (arcsec(u))’ = v 25. (arccosec(u))’ = v
. uvV1+ u? . uv1 —u?
26. (senh(u)) = u’ cosh(u) 27. (cosh(u)) = u’senh(u) ‘
28. (tgh(u))’ v 'sech?(u)  29. (cotgh(w))’ v ’ cosech? (u)
. u) =——5—=u u . u) =—————=-u u
s cosh?(u) s senh?(u)
30. (sech(u)) = —utgh(u)sech(u) 31. (cosech(u)) = —u’ cotgh(u) cosech(u) |
/ u/ ! u/
32. (argsh(u)) = ——— 33. (argch(u)) =
(argsh ) = (argch(u)) = ———
34. (argtgh( ))’—L/ 35. (argcotgh( ))’—L/
- (argtgh(u))' = 77— - (argeotgh(u))’ = 17—
' u' / u'
36. (argsech(u)) = ———— 37. (argcosech(u)) = —————
(argsech(u))' =~ A= (argeosech(w)) =~ T
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